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SA: R
I AY2IZHI(WRD) (OIEHIIE)
=l Jl=3H| (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
TH=2 3,288,475 3,310,600 N22,125
= 63,000 63,000 0
z 3,225,475 3,247,600 N22,125
AH2AZYI (W) (O1EHIIEL) 81,99 86,051 4,055
23| 81,9% 86,051 4,055
Jlz&hl 81,9% 86,051 A4,055
201 Let2aY| 31,177 32,817 A1,640
01 At 2teltl 29,125 30,657 A 1,532
OAtR2eldl olatE 2= -1,532,000& 21,532 0 1,632
2 =23l 2,052 2,160 A108
O=s23H| HaEa= -108,000& A108 0 A108
202 Ol 45,899 48,314 N2,415
01 =LHOIHI 45,899 48,314 A2,415
O=Uobl Ha2z= -2,415,0002 A2,415 0 A2,415
NS (LerSSHY/ ALY - WEXA) 471,361 480,959 19,598
= 63,000 63,000 0
i 408,361 417,959 19,598
KA =t 168,486 170,667 ~2,181
I, =AIZ NSHF 168,486 170,667 ~2,181
201 Zer=2d] 31,194 32,83 A1,641
01 At22teltl 18,122 19,075 A953
OArR2teld] olatE 2= -953,000 A953 0 A953
R =23l 13,072 13,760 1683
O=323H| tlaEz= -688,000& 688 0 688
202 0| 10,260 10,800 AB40
01 2oL 10,260 10,800 2540
O=U0idl HarEZE -540,000 2540 0 2540
E§F - 25ME = 5,325 5,500 A175
NISZAL AAl 5,325 5,500 A175
202 0| 1,900 2,000 A100
01 2oL 1,900 2,000 A100
O=Uobl oaEHE -100,000 A100 0 A100
203 =Y 1,425 1,500 AT5
03 AIHF=EH =AY 1,425 1,500 AT5
OAHFIYRFAH MESZ
75,0002 AT5 0 AT5
E2AH A&zl 168,406 170,555 A2,149
= 63,000 63,000 0
i 105,406 107,555 A2,149
THEFAL = 2t 29,759 31,325 A 1,566
201 Ler2aY| 29,759 31,325 A 1,566
01 At2teltl 6,199 6,525 N326
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IH: NFWASE(LSTHY/NLSBE - WIX )
ol 2=A A3 2t (SH9 H2)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
OAIR22IH| Atz 2 -326,0002 1326 0 1326
2 33234l 23,560 24,800 A1,240
O=3234| tlatEd=2 -1,240,000& A1,240 0 1,240
NSIA 23 11,092 11,675 583
201 LEtE Y| 11,002 11,675 583
01 Al22t2|H| 3,49 3,675 A183
OAIR22IH| HlarE 2 -183,000& A183 0 A183
® I229Y| 7,600 8,000 2400
O3323H| olaEHE -400,000& 2400 0 A400
KIZAI(R) &4 129,144 134,237 5,093
A48 M1 129,144 134,237 15,093
201 Lete | 87,474 ®,077 14,603
01 Al22t2|l 43,893 46,203 A2,310
OAtR2teldl olaE22 -2,310,000& 2,310 0 2,310
02 22294| 43,581 45,874 A2,293
O=3234| tlatEd=2 -2,293,000& A2,293 0 A2,293
202 04| 9,310 9,800 YaVile)
01 22U 04t 9,310 9,800 Yaviie)
O30 olatE2Z -490,000& Yaviie ) 0 2490
SIHTA S (LS /XL - W XIH) 116,487 119,736 N3,249
S5 3 HHL 2,829 %4,8% N2,087
SER0HY 11,714 12,330 1616
201 LEE Y| 7,610 8,010 A400
01 Al22t2|H| 7,610 8,010 A0
OAIR22IH| HlarE 22 -400,000& 2400 0 A0
202 04| 4,104 4,320 n216
01 204t 4,104 4,320 A216
OSSIAZAL FE0H| latE 2=
-216,000 N216 0 N216
XE2e 63,445 63,966 521
201 LetE o) 38,150 38,550 2400
2 Z329Y| 7,600 8,000 A400
O3323H| HaEL=2 -400,000& A400 0 A400
202 04| 1,539 1,620 81
01 2L 04t 1,539 1,620 81
O=Uodl slaE2=2 -81,000& 281 0 281
203 YR =ZIY| 760 800 A0
03 A FRIHRFAIY| 760 800 A40
OARFEARFEH| laME2Z
-40,000 A0 0 A0
SAHS L T 17,670 18,600 2930
201 LeteHy) 14,250 15,000 ATH0
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Hu: SIMEAN Y (UBDTHF/NYH - WE)

ctelr e A EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
01 AlR2telHl 14,250 15,000 AT50
OAtR 22l Ol ESE -750,000& AT0 0 AT50
202 Ot 3,420 3,600 A 180
01 2LHOIL 3,420 3,600 180
O=U0ll arEZ =2 -180,000 A180 0 A 180
SAIRI| slHXC 23,658 24,840 A1,182
NRENAN 22t 23,658 24,840 A1,182
201 Let2d| 19,950 21,000 21,050
01 AlR2telHl 19,950 21,000 A 1,050
OAtR 22| oldtEdE -1,050,000& A1,050 0 A1,050
202 04t 2,508 2,640 AR
01 2LHA Y] 2,508 2,640 N~132
O=HoHl olatE 22 -132,000& A132 0 132
Tjarzte| (LS Sy /el d) 2,618,581 2,623,854 N5,273
SAr2te 1,737,683 1,705,949 31,734
ArEZ 4| 957,706 925,972 31,734
201 B2l 926,159 84,275 31,884
01 AFR2telHl 116,014 122,120 16,106
OAtS 22l oldtEdE -6,106,000& 76,106 0 76,106
02 S5=2g4l 810,145 772,155 37,990
O8&82= € HA 791,955 731,955 60,000
—dIIe= 26,000,000& 128 312,000 252,000 60,000
O3=2gH| olvEd=
-22,010,000& A22,010 0 A22,010
202 04t 2,850 3,000 A 150
01 2LHA Y] 2,850 3,000 A 150
O=LoHl olatE 22 -150,000& A150 0 2150
£ ¥ Xzl 727,759 764,075 136,316
=3 2 g 7Y 505,300 531,500 A26,200
405 KHaHF S| 505,300 531,500 A26,200
01 It =S F = 505,300 531,500 N26,200
OXHIA S SFSH| OiMtESE
-26,200,000& A26,200 0 A26,200
g szl 222,459 232,575 ~10,116
201 LBt ] 209,634 219,075 A9,441
01 Al 2telHl 34,922 36,760 n1,838
OAtS 22| olatEdE -1,838,000& ~1,838 0 ~1,838
2 352484l 174,712 182,315 A7,603
OS&2gH| tlvEz= 7,603,000 A7,603 0 A7,603
202 04t 12,825 13,500 NB75
01 A 12,825 13,500 675
O=U0Hl arEZ =2 -675,0002 AB75 0 AB75
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